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Exam Style Questions

Quadratic Sequences  CorbettmOtths
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

- J
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Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

4 N
Revision for this topic
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1. The first four terms of a quadratic sequence are shown below
Work out the next term.

7 11 17 25 25
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2. The first four terms of a quadratic sequence are shown below
Work out the next term.
6 12 22 36 s¢
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3. The nthterm of a quadratic sequence is n2 - 2n + 8
Work out the first three terms of this sequence
Uz 1=2)+s = F
u?_ = 2,1'1(1) +5- &
Uy =3 (3)+8 = ||
(2)
4. A quadratic sequence has an nthterm of 2n2 + 3n — 1
Work out the value of the 6t term of the sequence
L
Uy = 2(e) +4(¢)
=2(%) +18 -
- 3L+ 9
= %1 (2)
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5. A sequence has an nthterm of n2-6n +7

Work out which term in the sequence has a value of 23.

Nt-6AxT =17
N -6nA ~]6=0
(N~g)(Ar2)=0 LB tem,
=2 (2)
6. Here are the first 5 terms of a quadratic sequence

4 11 20 31 44

I A= - a=
1
Find an expression, in terms of n, for the nth term of this quadratic sequence.
oo 4 9 b 15
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7. Here are the first 5 terms of a quadratic sequence

4 10 18 28 40
S~ —— ~_ _ / _
. G % o 1z o=l " aczf .
Find an expression, in terms of n, for the nth term of this quadratic sequence.

nt ! 4 9 b 1S
O, ~At Z 6 g 1t 15 3Nn
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8. Here are the first 5 terms of a quadratic sequence

9 17 29 45 65
—— ~——" —~ , -
% 1L 6 Oi"% oazt

Find an expression, in terms of n, for the nth term of this quadratic sequence.

Int 7 8 b 31 50
Or-r 2 a U 12 8 Ints

mss
(3)
9. Here is a tile.
Here is a sequence of patterns made from these tiles.
Pattern 1 Pattern 2 Pattern 3
| + 19

\_/v/ B , -

& | L d‘ ‘6 S48 j

How many of these tiles are needed to make Pattern number 107?

n* 3 1L 7F

-7 -~ 5 % ’g*’\'ﬂ
1Y =N
han \=\O
2(\0}1*500%(
~ 200 —20 *! (CH ..............
= 1% ®)
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10. The nth term of a sequenceis n2+ 3n
Two consecutive terms in the sequence have a difference of 38

Work out the two terms.

(N OE43(an) —[amesn] = 22
N A TS AT = 5

In+4 =58
’U\:%%
/\2)
|30+ 3r) = 840
g3 (18) =57

11.  Prove that every term in the sequence n2 - 4n + 21 is positive
(N-0)"— U+
Q\ L}LJV s
U\,gt B poSWMa
(-0 +1F 5 posine
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